Stoichiometry #3

The equation:

1 JB ( 2ABP + 2 SSB + 1 SS + 3 AS

Can be read as “One jumbo burger corresponds to two all-beef patties, two sesame-seed buns, one secret sauce, and three Alka-Seltzer tablets.”


a. How many jumbo burgers can be produced if you have:


  i) SSB
ii) 8 ABP
iii) 1 SSB
iv) 3 SS


b. How many SS did you consume if 8 AS were needed?


c. How many SSB are needed to go with 6 ABP?

d. If every SSB weighs 40 g and every SS weighs 5 g, what mass of SS is needed to go with 120 g of SSB?

e. If every JB weighs 200 g, what number of ABP corresponds to 500 g of JB?
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